ek g e @y,
§ Cuwsl pbS AN B N CYol> 2L C = {{rra}} s B={{ra}, s} s A={1.r,{¢}ro} S|
! {{ro}}(r {reokw {ro} ()
S 3 05 Jsl pi guac 3z A={X|XE N,10 < X < V200} acgome| ¥
! E(F (s P (Y 1)
S‘c;uwlfl.\S{E,e,‘q—r,........}@blﬁ)ﬁw s
e {rx |xEN,x>\}(r' {E|a,bEN,a=b—l}(\
Yx+1 b
{‘;ii‘[lxeN}(r {”‘Zleez,x—rz—\}(v‘
S e300 ) degoo 93 I I So psS B={X|XEZ, -0 <x <0} sA={Xx|x€Z x" <¥.} 81| ¥
1/ T il 550
plaS za(F 93 (Y B A
N deg0mm0 ST yazo S degomme ) 3125  JBL Y L ul o (s9uae PN-) degomo SO b degomme pujdlas JS1| O
1/0 $ ol pIaS (sguire
1 O(F (v (3 1)
Sl plu{FP]a,b EW,a+b=F}acgoml pjsb S jl SyplsS| #
1/ {Vv,e,15, 8¢, vos } {5, ro5 30
{x"|xe{, A5 {E. 15,5, vos }v
$ Cawl I3 N Jlsdin . Camsl degomo 1o FF ¢ Gouae NHY 9 N-F degomo 93 Sl degorro ) 513w Egomo |V
/e 5 (F a(Y (Y ()
$ Cannl 3L (53l plaS | A
1o {x|x€z,2€z}={ox|xez}r {rx|x€zZ}={rx—¥|x€Z}
{¥x-1|x€ez}={rx+v|xezZ}r {rx+e|x€ Z} = {x —v|x € Z }(*
S cwl pp(BUM)U(BUD) L il 4SS il Sqplss |

Qe B ( B(y MQ)

1/0

? cwl pas P(AUB) ssbB={b,d,c}sA={a,b,c}sS={a,b,c,d,e,f} 3

S v ~(r “0
5 s v v




?).J'bl.g6)|)S.'|')._¢.i:9))§))&0._{|4S>)|)du>|)ﬁg.m,5wuo§))l¢g)xusi' 3\‘3V30fl§)|l.3

1

e D Do L 2
H‘( I"( I?( Y\‘(
¢ Gl 25l gl (g lieldre S Mgeg 2390 | bl S0 L;I)b% oS X slass 4z gljl 4 xisLXE N 81| Y
1/0 V(e I\ oY £
B S Cannl 2iz C U Bl dlols . ol o G5l O (2250 @l 01l | 1V
‘ d+0/0(F o-Vo( ovo(y d+/o()
C
o
T Gl Jlgio 5,9 32 9> lo'ASo.g\/T_>A.c ¥
) V(e (Y V(P E()
1 10
¢ canl plas —25— 0,15
ol
e~
1o b ) e ) " Y
?(\‘ ;—o(\" ?;(Y W(‘




